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The  calculator 

In an ordinary calculator the operations are performed in order that the keys 

have been presSed. 

Example  -         5 + 3 × 2 = 

                                  8 × 2 = 16 

But this is wrong according to the "BODMAS" rule . 

 when we enter the above data in scientific calculator in the same order , the 

operations are performed according to the accepted order of performing 

mathematical operations . 

example -       5 + 3 × 2 = 

                         5 + 6 = 11 

 

This is correct according to the  "BODMAS" rule. 

Study the example in your text book and answer the following exercises . 

• Exercise  11.1 

• Exercise 11.2 

• Exercise  11.3 

• Exercise  11.4 

 


